DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)
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D —603 =10 = 0 —27.2+ (=10) =
2 —=36080 =5 = 1m 2901 +0.1 =
9 166.18 =7 = 192364 + 3 =
) =5370.3 +9 = 19 707.2 +0.08 =
) —20253 + 3 = 0 5.148 = (—=0.01) =
0 331.2+9 = 2y —18900 = 10 =
" —636.64 + (—0.08) = 2 —22235 55 =
9 1581+ (—0.2) = 2) —338.4 + 3 =
9 74.916 + 0.09 = 2 0.6475 + 0.01 =
1) 3607.2 + 0.8 = %) —1718 +2 =
1 —=5197 + 10 = 26) —20150 + (—10) =
12) —17230 =5 = ) 2723.7 + (=7) =
1B —60004 + 7 = % —999.5 + (—0.1) =
1) 4.5035 + 0.05 = 2) 38694+ 6 =
1) —6447.7 = (=7) = 0 170.76 + (=3) =

Mathematics: Division - Level 6 - Horizontal - Set 5
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